EARAROBREBRT —5 XN—ZXBISH—F 20224F108108 (B) 158&R18

7R PRI o ) [ w | mewE - | 9 w0 e

[xE%] 1&:360,000H  23&:115,000H  3#&:57,000M  43%&:43,000H  53&:36,000H

B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= S BEHELE : -2-2- - EH—E (&R

108 4| TIVRIEY— 3 ES 1'(2_9)'7 M R 1 f; RBEE
RNRMOD B:TLY—RI«X #HBEIT7—L
== Ul 7 | BLWRF 1:31.0 2-2-3-4 |38.8| — 5 482 | BEME ER)

7 H 9|37U—ANYva e 54.0 ®) “7) (B J P NG
R:2MOVIUI—Y B:HATILIVa e iE
SRS 4t 3 | PHEELE 1:31.0 6-5-5-3 |38.4| — 2 392 | HEZ &R

3 Bl 3 SHYVNRS 54.0 (79<) (-3) SlEf
RIET7RA7 B:Y—RN=b AR SEIT7—L

P ~ 8 3 | RIEHD 1:31.1 1-1-1-2 [ 39.3| — 3 470 | SBEE_— (&R
N 2 PIEERPZ S0 54.0 (/4) ) |REERE
RN/ UFP—R B:FIvrOvISy HIFHRT—TI
3 | RRAT 1:31.4 3-4-3-5 [39.2| - 4 | 439 | NEERDE (&R)
518|10] ¥~ MUV 5.0 a0 by | ® Fr-2hevay
R:O—IRAA XA B:RARXL—=Y I EvIUy RI7—L4
W > S TR 133, -8-7- . - EAEZ (&R

617] 8 | VILETTTY 4 3 e 1 (383)1 8-8-7-7 | 39.4 7 (f?g) e

R:iO—IRA VXA #&:D)LT7I-)b B 5hE
S~ 3 BRERA D : ~7-6- - TRE (R

d - BESSPZIr% RN A A L

R:TSvIIAR B:IqvyvOo—-Uv RERIS
o __ ~ = # 6 | WPEth 1:33.4 10-10-8-8 | 39.2 | — 8 470 |SH-R &R)

8177 ET-ILBYT 54.0 (3/4) 3 |RHE

R:I=Z/FLLy b B:F—ILINAVT— i ae
s LSMEE . -0-0— — FHEE (&R

9 1)1 | DIV RYwILL e e RS A 8 amEs
RIXVUSTvR BRARY—FTAI—V fAEXIY R

< < [SFIETVS — -6~ - - EH—E (&R

#| 5|5 | K=Y RL—=2 3180 (chik) >0 6 (5_042) JLERASE
RiNZ—ka1—R B:ARAYUVTL— BRI 7—L

@ 11— —BERIEI

13—7F— 2,9,(4,10),5,3,6,8,1,7

20—F— 2,(4,9),10,3,5,6,8,1,7

BEIES /S 2,4,0,10),3,6,8,7,1,5

40—7F— 4,2,3,9,10,6,8,7,1

0 ILRE

BB 4 110 JA R 4-9 220 & 4-8 2004 3ER 3-4-9 1,280

B B 4 1004 3-4 180H B 4-8 3704 3Es 4-9-3 2,280M

9 140/ 3-9 690M B E 4-9 400
3 120/ Ba 4-9 560

ABIC OV TRUTEREERRODDZE. THRIIZEL.



